


O10—1 10—1 °
1 U
IO
A A |
N 5 | 2 3
\‘ ] o— ] 2 o—— 30—\>
le Tz/ " — — (\
§ 2 J ]’o—\ 2’0—\ 3/o—\>
=P~
J J J J J J
(a) (b)
10—1
’ (a) ’ Z‘laiz 1 ’
01 ( ) iz (
) (a) s S ,
“ ” 1 2 U o—— -
’ H H e
. . .2y a. T . b o
I 2
2),
(b)a (ﬂ)c 10—2
:(1,2)(1,3) (2,3,
O10—2 10—2 o
(D 5 (2) S )
@y . 10—1 ,
(1’2)3 1072 o
(2) o S ,
di, (1)
1 1 19 lldt >09
1 . S 0
1 o
O10—3 i1=2+5c0os(10t+30°)A,i,=10e ™A, 10—1 (a)
1 2 , 1 L, =6H, 2 L,=3H,
]\/[:41_1o :(1) ,(2) Uy Mzz’;(g) kc
10—1 (a) ’ 11 iz 1
2 ’ s 1] ( iy



(D ,
10—1 (&) ,
v =Y, —v,=L,i —Mi
=12+30cos(10t+30°) —4e Wb
W, =—Y, +V¥,,=—Mi, +L,i,
=—8—20cos(10:+30°) +30e " Wb

(2
un,:di’l =L, %—M (g; =—300sin(10£+30°) +200e "V
s =d:§2 =—M %+L2 %zzoosin(wzﬂo")—15oe*5fv
M 4
(3 k ; k—m—ﬁfo.wg
O10—4 k=0,
o =M
L,L,
.k A(DO<E<1, k=0,
;o k=1, o (2)k N
. ; ; .k
: . ; L L, .
k ’ M .
O10—5 10—5 L,=6H,L,=3H,M=4H, 11
(D 10-5  (a) ( )
11
L= (L +M) + (L, +M) // (=M)=10+7//(—4)=0. 667H
(2) 10—=5 (b ( )
11
Lo=(L,—M)+(L,—M) //M=2+(—1) //4=0.667H
(3 10-5 (o ; 10—-5 (o
; 10—=5 (e .

« 159 -



L] Ll
19 LV 1°© YN
\ .
M—s A}—».
Lz §L2
I'o ¢ l'o
(a) (b)
1° M 1° M
Ay e
L1§ %Lz L1§ §L2
l'o l'o
(c) (d)
10—5
Li+M -M L—M M
] o—r YV 1 o——r~v v,
L+M § Lz‘M%
lrc ]’c
(a) (b)
lo lo
Li+M Lo+ M|
o
M l'o M
Jol,
re
(d) (e)
10—5

10—5 (¢) ’

Lo=(L,—M)+M//(L,—M)=2+4//(—1)=0.667H

10—5 (e)

« 160 -

(M)’ _ . M*
’ _]a)Lg Jw Lg ’




Lo=L, = -=6—"=0.66TH
@ 10—5 (D , 10—5
(D ; (3) 10—5 (e
: . (D . 11

L=, +M+(—M) //(L,+M)=10+(—14) //7=0. 667TH

O10—6 10—6 Z(w=1rad/s),
4H 1F
le 1] o——-—y A 1o
1H f
./ \. SNIH
w3 San []IQ IH § 0.21:T
1o 1o l'e
(a) (b) (c)
10—6
10—6 10—6 .
i@l ~1H SH 1F
lo A | 1°_Nv\_mj lo . I}
(M)? 2H§ 0.2F
ZZZ
| | b
l'o l'e l'o
(a) (b) (c)
10—6
@D 10—6  (a) Wy =1+j2Q,
. (wMD? . 1 .
Z=jwL,+ 70 —J+1+j2—(0.2+JO.6)Q
(2) 10—6  (b) s
Z=—i1+G2 /(5] ﬁ):*jlﬂ
(3 106 (o : L,=2+3—4
1H, o= 1 =1rad/s, s 7=
VL., C

161 -



01077 1077 R1:Rg2109wL1:3Q9a)LZZZQ9wM:297U1:

100V, (D S 1,:(DS

L g JeLtM) —joM

10—7 10—7
\ 10—7
v o,
(D S
- 0,
! R1+Rg+]w(L1+L3+2M)
_ 100 0° _ 100 e ,
T 2439 9.22 /88.47° 10.85 /=17 47" A
S
P U,
' TR Fjw(L, M) F[R, Fiw(L, M) ]/ (—jwhD
- 100 /0° e er .
STTET A (4385 /787.88° A
(2) S ,

S=U,I;=100x43.85 /37.88° =4385 /37.88° V

2 s U,,=0, 1
2 : S, =0 1
/ 37.88° VA,
O10—8 50Hz,220V ,
2.7TA, 218.7W; TA,
:Us=220V,w=2nf=314rad/s,
L,+L,+2M,

« 162 -

A

U= Ul ’



R Tar (L, 7L, T2M)7 = Us =220

I 2.7
_ /,220., PR
w(L,+L,+2M) = (ﬁ) —30°=75.758 @D
L]+LZ_2M
R2+w2(L1+L2—2M)2=%=2§0
w(Li+L,—2M) =, | (Z20): =30 = 9. 368
@)
@ ©)
M T5:758—9.368 o oo
)

@109 10—9 , :R,=R,=100Q,L, =
3H.L,=10H,M=5H, U=220V,w=100rad/s,
(]) ’ 5
(3) ;

4) o
[ R JoLy Ry joL,
+ . .
jcoM/
gt U -+ U, -
c
10—9
10_9 1)
Lo=L,+L,—2M=3H
U=220 /0° V, I

« 163 -



. | 220 /0°
I U L =0.61 /—56.31° A

"R R, Fiwl, 200+j300
(D U U, 10—9 .
U, =[R, +jw(L,—M)]I
= (100—j200) X 0. 61 /—56.31°=136.4 /—119.74° V
U, =[R, +jw(L,—M)]I

=(100+j500) X 0. 61 /—56.31°=311.04 / 22.38" V

10—9 (a) o

i I T R Ey
! .1_;,_|—_|—|_-"-.-'~r' Y e
Y
10—9
(2) , L,+L,—2M=>0 .

(VL —/Ly)* =0

IJI JFIJZ 72 V4 141142 20

L +L,=2 L L,

k= I T <1, M<.LL,
1L

3

- 164 -



1 1

C= L. Toor < 0% 33
) . 10—9 (b
L,+L,—2M<0 bk 1 :
1 !
7&)L' Q)I, mo
0O10—10 10—9 .

ep , .

(2) .
@) s 10—10 (a) .

P.
U=220 /0° V. 10—10 (a) KVL

(R, +ijwl )1, +iwMI,=U
]CUMll +(Rg +Jw[42)12 :U

(1004330001, +j5001, =220 /0°
i5001, + (10041000 T, =220 /0°

+ 0

(@) (b)

10—10

165 -



220 7500

j.—_1220 100+j1000
! 10043300 j500

i500  100+j1000

j,—220= 00800 IL _ o 5eo /170, 56° A

L, 3500

=0.825 /—28.41° A

P, =UI, cosg; =220 X0. 825 X cos28. 41°=159. 64 W
P,=UI,cosp, =220X0. 362X cos170. 56°=—78. 56 W

b ’

90°,
10—10 (b o

(2) Ze
U_ U 220 .
=== = ~=377 / 50.
La T i+j, 0-583/-50.8 377/ 50.8° 0
©10—11  10—11 M=0.04H,
L,=L, +L,+2M, W=t o=,
wl LC
Leq

L,=L +L,+2M=0.1+0.4+0.08=0.58H

[ON) 1 1 :41. 52 rad/s
L.C /0.58%0.001

. joM .
Jwls /J N oL,
. A VYL

0.1H 0.4H i

R .
o [ YY" —— — Y Y .
R - Uyn t -

\M/
0.001F == Do []Rz

10—11 10—12

0O10—12 10—12
100.wM=5Q0.R, =R, =60.U, =60V ( ).

U,.,=Uyo + R, I, =jwMI, +R, 1, = (R, +juM) 1,

1'1 LZ ’ i]

« 166 -

(.UL] = (,ULQ -

R:



__u
R, +R,FjwlL,

I,
U,=U, /0°=60 /0° V.

o R2+](,UM o 6+]5 o __ o
Us R TR 1l Ut 1210 80 07 =30 /07 V

’

. 10—12 (a) ,
. 11 U, :
(R, +jwL) I — (R, +iwM I, =U
— (R, +jwM) I+ (R, + R, +iwl ), =0

(R, +R, +iwL)HU

— : : —
™ (R, +ijwL,) (R + R, +ijwl,) — (R, +ijwM)?
I.:I.ml’ ’
L U_U_ oy (RetjeMD?
T TRl T RO, Tl
OO b o 1D L
=6-+j10 127510 3+ij7.5Q
10—12 (b
jm
R1 /\ [ Zcq
) Y'Y o] — [ 1 o]
oLy JoLo + +
& e o o
ol 7—0]’
(a) (b)
10—12
O10—13 10—13 Rl:lﬂ’wlq:ZQawLZZSZQ,wMZSQ,%:
w
320, 1, U,.
10—13  (a) I,

« 167 -



. |
Zzgf]ngvijCZ j32—j32=0

o ’

(wM)* _
ZZZ
’ 11=O
10—13 (b 10—13
U, .
7y =R, +tjwL, =1+i2)Q
(wM)’ 64 _ _ o
T 2862/ 63.43° Q
loMyy 38 w8 /00 =28.62 /26.57° V
Zn 1+]2
.U

- —i32 e
,= X28.62 / 26.57° =32 /I
U = 3279862 /—63. 43" —jsz 2502/ 26.5T =32 /0. V

Lo R oL (oM)’
N joly jol; A _+
. 10° wM)) I ojeM - N
U]C) v 7 Z U chz——Uz
(a) (b)
10—13
O10—14
@10—15 10—15 R, =50Q.,L, =70mH,L,=25mH,M=25mH,
C=14F, U=500 /0° V.w=10'rad/s, .

« 168 -



O10—16

O10—17

O10—18

ol

10—15

10—15
jo(L, —M) =3450Q
jw(L,—M)=0 +
JoM=)2500)

1 . U
——=—7j100
JwC 11000

ol

U
Rl +](,U(L1 -

M)
=1.104 / —83.66° A

[=1I,=

_ 500 £500%
50+j450

i2:0

10—16
10—16 s

(R+ijl JF].sz>I'n _ijz I 12 _jme (in —

7J.CUM31 le 7J.wM12 I 11 +jwM2;; I 12 :Um

—jwlL, I+ Gowl, +jwl; +]7(‘) I, FjoM 1y
w'

_jwM31i11 +jwM23 (ill _ilZ )=0
(1)7,=0.1106cos(314:—64. 85) A
(2)1,=0.3502co0s(314¢t+1. 033 A

10—18

10—15

1)

7J.CUM23 I,

10 :



10—16
10—18
R,
Req:anLzl()OXF)O:F)OOOQ
! qu o ___ o
UI_TRNXIO /0°=9.998 /0" V
VCR
I L
101

-

+ +
100V T %

10—17

() 10/0°V

+

ol

10—18 10—18
U, Uzz%ljl =0.9998 /0° V
O©10—19 100 , 10—19
N,
n.l
iS [ ] [ ]

o []509 g []109

AAS

10—19

< 170 -

O [l

]an .

10—19



R,=n’R,=n" X 10
10_19 o ’
n* X 10=50

n= /%zﬁzz.zw ,10Q .
0O10—20 Z=jl1Q

< 171 -



— e <

. 172 -



Ol11—1 Z=(165+i84) Q. Z =2+
ihQ, Zyv=0+ihQ, U, =380V,

’

11—-1 (a0 Y o

, 11—-1 (b o

N *%“MAI:ZI L A Z

@ (b)
11—1

- 380 , o o
U‘w:%&:zzo&v

B . Ua _ 220 00° _ B .
=1 () $a= i =res 1.174 /—26.98° A

’

[,=1.174(/—26.98° — /120°)=1.174 /—146.98° A

Ic=1.174(/—26.98° + /120°)=1.174 /93.02° A

Uy =Z1,=(165+j85) X 1.174 /—26.98° =217.90 / 0.275° V

173 -



Unw =V3U v /30° =377.41 /30° V

Upe =377.41 / —30°—120° =377.41 /—90° V
Uer =377.41 / —30°+120° =377.41 /150° V

11—-1 (o o

O11—2 U, =380V( ), Z=(4.5+
14 Q, Z, =(1.5+i2)Q. ,
A 1) YiY ’ o
11*2 (8) A ° Y*Y ’
11—2  (b) .
, 7 1 o )
Z—?—?X(4.5+J14>—1.5+]4.67Q
, 11—2 (o)
Ao A Zl
i Z
Bo I 1
Co I Zl
11—2
: 380 o o
UAN:ﬁ&zzzoﬁv
[,= U 220 L0° =30.08 / —65.78° A

- 174 -

- Z+7 1.5+j2+1.5+j4. 67

:iBZSO. 08(/ —65.78° —/120° )=30.08 / —185.78° A




[.=30.08(/—65.78° +/120° )=30.08 /54.22° A
11—2 (a)

9

fow=-1L1, /30°=17.37 / —35.78° A

V3
. 1 : . .
I'ye :ﬁlﬁ /30°=17.37 / —155.78° A
I.cu\':%jv /30° =17.37 / 84.22° A
-2 (@ .
()

11—2 (d)
Ol11—3 U,=230V, Z=(12+j16>Q,
(D ;
(2) N ;
(3) (L (2 ?
A o
zZ Z
B, I Las Z Tes
Lse
C o ic
(a) (b)
11—3
(D 11—3  (a) o

. U o o
Uax =731&:132. 79 /0° V

175 -



I'A:U“‘“:M:& 64 / —53.13° A( , )

Z 12116

1,=6.64(/—53.13°—120° )=6.64 / —173.13° A

[.=6.64(/—53.13°+120° )=6.64 /66.87° A

P=./3U,1,cos¢g, =+/3 X 230X 6. 64c0s53. 13°=1587. 11W

(2 , 11—3 (b o

01\5:230@"\/,1@:%:11. 5/—53.13° A

Ihe=11.5(/—53.13°—120° ) =11.5 / —173.13° A
[ea=11.5(/—53.13°+120° )=11.5 /66.87° A

Ia=y31,,/—30°=19.92 / —83.13° A

j,;=19. 92(/ —83.13°—120° )=19.92 / —203.13° =19.92 / 156.87° A

I.=19.92(/—53.13°+120° )=19.92 /36.87° A

P=3U,I cosg, =3 X230 X19. 92cos53. 13°=4761. 34 W

(3 (@ :
Y A ,
3 3 . I,=3l,y,P,=3Py,
O11—4 11—4 U,
380V,R=30Q,L=0.29H,M=0.12H .

11—4 o

U =280 00 v=220 A0° V
V3
. Uw 220 /0° _ _ ‘
I = R (=M ~30+j314 % (0. 29—0. 1) ¢ f=50Hz,0=314rad/s)

=3.593 / —60.66° A

« 176 -



1,=3.593 / —180.66° A
[.=3.593 /59.34° A

P=3I4AR=3X3.593*X30=1161. 78W

11—4

11—4
O11—5 11—5 Y—Y .
(15+j15/3)Q,Z, = (1+j2)Q.

Z 7
Ao—@ —
Z B _Z
I 1 O I : N/

1143.16V,Z=
UABo

Be | ]
V4 4
Co — Q—EIJ
11—5
11_5 ) o
1

Uayg =1143. 16V, Upnrv :ﬁU’\'BI — 660V

_Uxw 660 _
I,= ZI 30 22A, R

Unw=1.:(Z+2). Uy=/3Ux /30"
Uns=V3I|Z,+Z|
| Z,+Z|=]1+j2+15+j15/3 | =32. 232Q
U s =43 X22X32.232=1228. 2V

116 Y—Y ; 220V,

Z=(30+j200Q.

177 -



4) A s (1), (2),
i
—@—b ——
I Z
Bo—»—é—-]v’ Be < | N
, i z
Co '_‘|Z| Ceo 4 |
11—6 11—6 (a)
(D U =220 /0°V
. U220 /0° B
I,== 301520 =6.1,/—33.69° A
6. 1A,
(2) P=3ILR=3X6.1?X30=3349W
(3) A , Uxw=0, A N , 11—6
(a) R

UBN' :UBA UN'B:UAB :«/gUA]\' 300 =380 300 V

Uew =Ucr Uew =Uns/120° =380 /150° V

. Uy 380 /30° -
= = gy 1054/ —3.69" A

Uea _

1'(:7"—10. 54 /116.31° A
I,=1,—1.=10.54 /—3.69° —10.54 /116.31° =18.26 / —33.7° A

18. 26 A, B i Z)
’9 2 2 P C [( Z
P =13}R+I¢R=2I3R=2X10. 54* X 30
=6665.5W (Iz;=1¢) 116 (b)

Upe=Us/ —120° =J3U /30° + /—120° =380 /—90° V

r :_' :Ul( 3804 —90° _ o
I I 57 2(30+ 20) =5.27 / —123.69° A

« 178 -



P=2I3R=2X5.27" X30=1666. 4W

Oll—7 117 Unw =380V, 4
1. 4kW A
=0. 866( ).z=—355Q . Uz Bo
P
D) C
11—7 (a) . 11—7
11—7  (a) , Y )
« A ), 11—7 (b o
Upn =380 f0° =220 /0° v
V3
P=1.4kW
P=3UxnIacosgp,
I, P o Laxiet .o,

" 3U.ncosg, 3X220X0. 866
o=@, —¢; —arccos0. 866 =30"
@,:*300
[,=2.45/—30° A
11—7 (b
Unw=1.:(Z+2)=1,2,+Uyy=2.45 /—30° X (—j55)+220 /0°
=192.13 /L —=387.4" V
Une =3Uan /30° =332.78 / —7.4° V

A =cos[ —37.4°—(—30") ]=cos(—7.4°)=0.9917(p, = —37. 4%, ¢, = —30°)

A=0. 866, , 7.4°,
Ao L .i- A 4 .
— Ukx R
_ +A[A Zl A/ 4 ,
Z B 7 , N N
Be 1 N
V4 !
Co |_]| S 2
(a) (b)
11—7
O11—38 11—8 Y—A yUas =380V, Z=(27.5+j47. 64)
Q. (D) 7 (2) S )

< 179 -



. . *
55 P, :Re[UABI A :I Ao 7\ }

. . * Wl
PZZRe[UCBIS] T LI]Z
P,+P, :Re[UABI.K +U(‘BI‘(§:| Bo. 7
:Re[(Ul\iUn)I/x\ _’_(U(iUIS)I{] ¢Z
:RGEUAI.A:X _UB(I'AXA +I.(y5 >+U(‘f o] Co 3 TWZ,
I‘A+I'B+I'(;:O *
P|+P2:R3[UAI'X +U13i1§ +U(I(*:| =
=P
’Pl Pz . PJ Pz

P, :Rel:UABI‘; 1=Unxs IACOS(QD\IAB*SD;A)
:U11|COS(§D,‘/\+300_§D;/\):U|I|COS(§0Z+300)
’ PZ:UlllCOS(SDzigoo)

U,=380V, Z=(27.5+j47.64)Q=55.0 /60° Q

47.64 . _ _ 380
27.5—60, I, =31 ﬁXIZ\ 11. 967A

@z =arctan

Wl :P1 :U111COS(§02+300) =0
W,=P,=U,Icos(gp,—30°)=380X11.967cos(60°—30°) =3937. 558W
P=P,+P,=3937.558W

(2) S , m;

11_8 ) o AC * W]
Uap =380 /30° V T [:]Z
Ucs =380 /90° V Be

[@!
o
%
=
— -
N

I.A:I.AB:%:ES. 91&1&

-

fo—lo=Y—6 91 /30° A

Z 11—38

- 180 -



=P, =Re(U,sI i )=Re[380 /30° X6.91 /30°]
=380X6.91cos60°=1312. 9W

W, =P, =Re(UeI¢)=Re[380 /90° X6.91 /—30°]
—380X6. 91cos60°=1312. 9W

9

©11—9 , U, =
380V, Za=B+i2)0. Zy=U+jD0. Zc =
2+ibha.
(D Zn=(044+33)Q N
2) Zy=0 A o ( Zy=o2) ?
11—9 o
AL
+ .
()Uw yn
Z i
. N < N
Ux = 7 Ze
+ B 7
UnTF B[H
C L
11—9
(D U= 07 =220 /0° V
AN
V3
UBNZZZO 5*1200 V7 ULN 220 / 120 \Y%
U\N UIN U(\I
Z )UNN +— 7 + 7

, UVN=5o.o9 115.52° V

Ih= Za %+Jz
B

I‘CZUw;UN’VZZZO 120° —251129 /115.52° o 0o Jou 760 A
. /94.76"
- 181 -



—Uan _50. 09 211552 _ 1 o3 /75, 65° A

P=TR,+ Ry +ItR-=68. 17" X 3+444.51* X4+76.07° X 2=33. 439kW

(2) Z\]:O A ’ UN\I O I/\ O B C °
. Up 220 /—120° _ -
L= ="y 9889 /—165° A
fo=Yon 220 120" _ g4 59 /g3 430 A
Ze 2+l
Iy=1,+1.=38.89 /—165° +098.39 /93.43° =98.28 /116.43° A
) A ’ I‘[\':O,I.A:O,
ro_ 7 :UBN*U(‘N:?)SOi()(’: - R
Iy=—Tle="p s 48.66 /—129.81° A

O11—10 11—10 , U,=380V,Z=(50+

35000, 72, =(100+3;100) Q. Z4 R.L.C R=50Q,X,=3140,
Xe=—264Q,
D) S ;
(2) s )
(S ) o
! I
Ac [\ [4 —
s
a Zl
ol E] Pz |
I
Co L T
11—10 11—10
(D S ) 11—10 .

Zy=50+7(314—264) = (50+i50) Q=2
S 9 b

w:iUl /0° =220 /0°

'/:' 2204 _
I'\=1,= 501150 =3.11 /—45° A

- 182 -



(2

O11—11
O11—12

@Y

I./B:I.BZS. 11{ _1650 A
['c=3.11 /75° A

S . 11—10
W, =P, =ReUac I )=UseI'scos(gir . —gi')
WZ :P2 :Re(UBCj/S, ):UBCI/BCOS(SDOBC 7901;5)
S . I/A:I.l“’j/\q j/B:7i1+I.B
Uns =380 /30° V(U =220 /0° V)
Upe =380 /—90° V
UAC:_UCAZSSOﬂV
. Uw_ 380 /30° _ .
L= Z, 10045100 2.687 /—15" A
1,=3.11 /—45° A
I,=3.11/—165" A
I'v=1,+1,=2.687 /—15°+3.11 /—45° =5.60 /—31.12° A
I'y=—1,+1,=—2.687 /—15° +3.11 / —165° =5.60 /—178.87° A
W, =Unacl'scos(gi,  —gir, ) =380X5. 60cos[ —30°—(—31. 127 ]
—380X5. 60cosl. 12°=2127. 6W
W, =UgcI'scos(gpi, —g@ir, ) =380X5. 60cos| —90°—(—178.87°) ]
—380X5. 60c0s88. 87°=41. 97W
2. 4kW, 0. 4( )
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U, = +/60° + (100 + 30)% + (50 — 20)* + 20° = 147. 648V
U, = +/60* + (100430 —80)% + (50 — 20)* 4+ (20 — 10)* = 84. 261V
(2) Ux , U, is ( c
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=0.02 /45" = (1.41 X 10 * +j1. 41 X 10 *)1/km

9

b

U(l‘) =Ut e
U =U, =3/0°V ,

U'=U =3/°V
Ul (7[) — 3 i OO ey><7().8 — 3 ioo eo.ozg 45° X70.8 __ 8. 164ejl.()()lv

- U (—D 8. 164" .
I (—1) = — = 0.1633¢" 7 A
(=D 7. 50 /~ 45° ¢

U, =8.164V, I, = 0.1633A

O 18— 14 300km, R, = 0.06Q/km,L, = 1.40 X
10°H/km, G, = 3. 75X 10°S/km,C, = 9. 0 X 10’ F/km,
50Hz, , 220kV, 455A,
Z(‘ }/:
Zy = Ry +jwl, = 0.06 +j0. 4398 = 0. 4439 /82.3° 0/km

Y, = G, +jwCo = 3.75 X 10° 471007 X 9 X 10"
— 2.8277 X 10" /89. 24° S/km
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0.4439 /82.3°
Z. = /?\/ = 396.21 /—3.47° Q
0

2.8277 X 107° /89. 24°

y = VZ,Y, = /0.4439 /82.3%° X 2.8277 X 107° /89. 24°

= 1.1204 X 107 /85.77°

= (8.246 X 10 7 +j1. 1173 X 10 *)1/km
U, = 220 /0° kV.I, = 455 /0° A( )

N ’

Uw) =U, =U+U"

. s Ui‘_Uf
I(0) =1, = 2 2
U+:U2 +Zci2 U :U2726i2
2 2
Ulr) = U, J;chze"" +U2 _2ch2 e = Ugcosh(yx) +ZCI‘2 sinh(yx)

I(x) =

1 Uz _’_ZCI'ZE{FVI—UZiZCI‘ze e
Z[ 2 2 ]

= iz cosh(yx) + gz sinh(yx)

x = 300km ,
cosh(yxr) = 0.9446 +38. 14 X 107*
sinh(yx) = 2.337 X 107 + j0. 329

U, = U(300)
= 220 /0° X (0.9446 + 8. 14 X 10°*)
+396.21 X 10 ° /—=3.47° X 445 X (2. 337 X 10 * + 0. 329)
= 223.486 / 15.452° kV
I, = 1(300)
= 445 % (0. 9446 4 8. 14 X 10°*)
220 X (2.337 X 107% 4+0. 329)

396.21 /—3.47°

= 422.242 +)186. 754

+10* X
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300MHz 150MHz , R s

w U .
U:UQCOS&'+jZ(jI'2$in‘&T9 12 =0,
U - O, Z[ - Z/ ) °
U(I) = Uz cosfr Jer(.jzsin‘&T
f = 300MHz , B
w 2nf _ 27 X 300 X 10°
= L ==L =220 "" — 2xrad
P U, v, 3 %X 10° wrad/m
(D ., L =o0,
UOC(«T) = UZ cosfr = Uz cos2nx
o (x51) = A2U, cos2nxcosal
Uoe (x51) , x=20.25,0.75,1.25,1.75m  su.(xst)
st (2 01) 18—5 (a) | U | 18—5
(b)
A u(e v o A%
we N )z1 el A 0
\ //\\ I/A/ \ \ . \
! i N \\ - -/ \II "I/ \J/
X/ 2 v \ \:\/ 0 x/m?2 0
\ \
Ny v
(a) (b)
18 —5
(2) . U, =0,
U. = jZ.ILsingr = jZ.I,sin2zx
wu(xst) = 27Z.1,sin2xx cos(at — 90°)
usc(:[’t) . | Uoe 9uf>c(1‘9t) ’ Uoe — 0




s | e su(xst) 18—5 (a) R
(3) ’ Zl, - Zc ]
U(x) = U,e'® = U, e
ula,t) = 2U,cos(at + 272)
£ = 150MHz
_w _ 22X 150X 10° _
=, 3 X 10° wrad/m
U =U,cosfr +jZ1,singr, .
O18—6 Za Zeo 18—6
Z, = (50+3500Q, Z, =75Q.Z; =50Q.,
0. 22(A ) 1—1 .
1
: . 2
_Ulx) Z, +jZ.tanPr
Zin - . - Zc W
I(x) o T iz tange Zo Ze Z
2—2 24
Zz +ch2tan(ﬂ>< 0. 2/\) 1, \ .
i - 2 . 02)\_>|
Zm = Ze 7 7 an(BX 0. 20 023
g _2f 186
v, Af A ’

(50 4-350) +j50tan0. 47 0
Zw = 50 = 56.5327 /—47. 8
! < 50 + (50 +j50) tan0. 47

— 37.973 — j41. 881Q)
Zinl 1 ’ 17 1/

Zi +jZtanBe
. Zc] + jZinl tanﬂr

(37.973 —j41. 881) + j75tan0. 4
75+7(37. 973 — j41. 881 tan0. 4x

— 61.503 /48.816° = 40. 498 + j46. 2870
O18—7 500 . . Z, = (50 +
i1000Q. . 2. 5cm

Zin:Z

=75X

o 10em,
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n = U e™ _ Eeﬂ@v” _U.—Z1 e P = Zy = Ze o

. , . . . e
Ut U U, + 2.1, SR
Y =B =0 ;
i :ZZ*ZCZSO-Q—leO*SO: j V2 A5°
Y Z,+Z. 504j100+50 1] 2
2.5cm C p= in )
A
_ Zz *Z{. i2pX2.5 (L — @ °__ ° — - °
n = 722 +Zce = n,e" = 5 /45 180 = 0.707 /—135
2. 5cm
. 2
Z, +jZ. tan(== X 2. 5) )
7 -7 A _ Ze 2500

Z. +j22tan<i—” x2.5) 2 S0Til00

=10 —j20 /— 63.435° Q
018 —38
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